3apnava I. ABTonpober

3a AeHb MallMHa Npoe3XaeT n
KnnoMmeTpoB. CKOMIbKO AHEN HYXXHO,
4TOObI NMpoexaTb MapwpyT AJIMHOUN M
KWJTOMETPOB?

BxoaHble AaHHbIE
[lporpamMMa nosiy4yaeT Ha BXOoA4 4ucna
N 1 m (uenble, NoNIOXUTENbHbIE).

BbiXxoAHble AAaHHbIE
BoiBeanTe OTBET Ha 3ajaudy.

[Tpnmepbl
BXOAHble AAdHHblE
/700

/750

BbIXOAHbIE AAHHbIE
2

BXOAHbI€ AaHHble
700
2100

BbIXOAHbIE AAdHHbIE
3

n=int(input())
m=int(input())
if mM%n>0:
c=m//n+1
else:
c=m//n

print(‘c=’,c)

import math
n=int(input())
m=int(input())
c=math.ceil(m/n)
print (c)

n=int(input())
m=int(input())
c=(m+n-1)//n

print(‘c=’,c)
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2800//700=4
2799//700=3

(700+750-1)//700=2
(700+750)//700=2



